MTTC Chemistry Review Test: 10 Intermolecular Forces Name

MUL TIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

1) The property responsible for the "beading up" of water is

A) viscosity

B) density

C) vapor pressure

D) hydrogen bonding

E) surface tension

2) How high a liquid will rise up a narrow tube as a result of capillary action depends on


A) the viscosity of the liquid


B) only the magnitude of cohesive forces in the liquid


C) the magnitudes of cohesive forces in the liquid and adhesive forces between the liquid and the tube, and


gravity


D) gravity alone


E) only the magnitude of adhesive forces between the liquid and the tube

3) The vapor pressure of any substance at its normal boiling point is


A) 1 torr


B) 1 atm


C) 1 Pa

D) equal to atmospheric pressure

E) equal to the vapor pressure of water

4) As a solid element melts, the atoms become

A) larger, greater

B) closer together, more

C) closer together, less

D) more separated,less

E) more separated, more

and they have

attraction for one another.

5) The fluorocarbon C2Cl3F3 has a normal boiling point of 47.6 C. The specific heats of C2Cl3F3 (1) and C2Cl3F3 (g) are 0.91 J I g-K and 0.67 J I g-K, respectively. The heat of vaporization of the compound is 27.49 kJ I mol. The


heat required to convert 50.0 g of the compound from the liquid at 5.0°C to the gas at 75.0°C is
kJ.


A) 38.20
B) 29.07
C) 1.07 x 104
D) 27.55
E) 31.31

6) A gas is

of its container whereas a liquid is

and assumes

- and assumes of its container.

A) condensed, the volume and shape, condensed, the volume and shape

B) condensed, the shape, compressible, the volume and shape

C) compressible, the shape, not compressible, the volume and shape

D) compressible, the volume and shape, not compressible, the shape of a portion 

E) compressible, the volume and shape, compressible, the volume

7) An ionic solid, NaCl (s), dissolves in water because of the

A) relatively low lattice energy due to small charges of Na+ and Cl- ions 

B) B) relatively low melting point

C) 1:1 ratio of ions in the unit cell

D) simple face-centered cubic unit cell type it forms

E) strong coulombic interactions between oppositely charged ions

8) In general, the vapor pressure of a substance increases as

A) molecular weight

B) hydrogen bonding

C) viscosity

D) surface tension

E) temperature

increases.

9) The enthalpy change for converting 10.0 g of water at 25.0°C to steam at 135.0°C is
kJ. The specific

heats of ice, water, and steam are 2.09 J I g-K,  4.18 J I g-K, and 1.84 J I g-K, respectively. For H2O, Hfus = 6.01 kJ I mol, and Hvap = 40.67 kJ I mol


A) 4322
B) 47.36

C) 26.88

D) 44.95

E) 473.6

10) The substance with the largest heat of vaporization is


A) F2
B) I2
C) Br2
D)Cl2
E) 02
11) In which of the following molecules is hydrogen bonding likely to be the most significant component of the


total intermolecular forces?

A) CO2
B) CH4
C) CH30H

D) C6H13NH2
E) C5H 11 OH

12)


is the energy required to expand the surface area of a liquid by a unit amount of area.

A) Meniscus B) Volatility C) Viscosity D) Capillary action E) Surface tension

13) Which one of the following cannot form a solid with a lattice based on the sodium chloride structure?


A) CuCl2
B) RbI
C) NaBr
D) LiF
E) CuO

14) How much energy (kJ) is required to convert a 15.5 g ice cube at –5.0 0C to water vapor at 180°C?


A) 56
B) 11
C) 27
D) 9.0 x 103
E) 49

15) The predominant intermolecular force in CaBr2 is

A) ionic bonding

B) dipole-dipole forces

C) ion-dipole forces

D) London-dispersion forces

E) hydrogen bonding

16) Which one of the following should have the lowest boiling point?


A) PH3
B) HCl
C) H2O

D) SiH4
E) H2S

17) A substance whose triple point occurs at 222 K and 3.93 atm

A) will melt rather than sublime at STP

B) will have a critical point of 211 K and 2.93 atm

C) will not have a critical point

D) will have a critical point of 233 K and 2.93 atm

E) will sublime rather than melt at STP

Answer Key

Testname: MOLECULAR FORCES.TST

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

1) E 2) C 3)  B

4) D 5) A 6)  D

7)  A 

8)  E

9)  C

10) B 11) C 12)  E

13)   A 

14)  E 

15)  A 

16)  D 

17)  E

